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Lorem ipsum dolor sit, amet, con-
sectetur, adipisci elit, sed eius mod
tempor incidunt, ut labore et dolo-
re magna aliqua. Lorem ipsum d-
olor sit, amet, consectetur, adipisci
elit, sed eius mod tempor incidun-
t, ut labore et dolore magna aliqua.
Lorem ipsum dolor sit, amet, con-
sectetur, adipisci elit, sed eius mod
tempor incidunt, ut labore et dolo-
re magna aliqua. Lorem ipsum d-
olor sit, amet, consectetur, adipisci
elit, sed eius mod tempor incidun-
t, ut labore et dolore magna aliqua.
Lorem ipsum dolor sit, amet, con-
sectetur, adipisci elit, sed eius mod
tempor incidunt, ut labore et dolore
magna aliqua.

Lorem ipsum dolor sit, amet, con-
sectetur, adipisci elit, sed eius mod
tempor incidunt, ut labore et dolore
magna aliqua.

b

a

f (x)dx.

Lorem ipsum dolor sit, amet, con-
sectetur, adipisci elit, sed eius mod
tempor incidunt, ut labore et dolore
magna aliqua. Lorem ipsum dolor
sit, amet, consectetur, adipisci eli-
t, sed eius mod tempor incidunt, ut
labore et dolore magna aliqua.

...grid typesetting.grid typesetting



Lorem ipsum dolor sit, amet, c-
onsectetur, adipisci elit, sed e-
ius mod tempor incidunt, ut
labore et dolore magna al-
iqua. Lorem ipsum dolo-
r sit, amet, consectetur,
adipisci elit, sed eius
mod tempor incidu-
nt, ut labore et d-
olore magna ali-
qua.

b

a

f (x)dx. Lorem ipsum dolor

sit, amet, consectetur, adipisci
elit, sed eius mod tempor in-
cidunt, ut labore et dolore

magna aliqua.

b

a

f (x)dx.

Lorem ipsum dolor sit,
amet, consectetur, a-
dipisci elit, sed eius
mod tempor incid-
unt, ut labore e-
t dolore magna
aliqua.

...inserts omission → \parshape.inserts omission → \parshape



Lorem ipsum dolor sit, amet, consecte-
tur, adipisci elit, sed eius mod tempor in-
cidunt, ut labore et dolore magna aliqua.

a

f (x)dx

b

Lorem ipsu-
m dolor sit, amet, con-

sectetur, adipisci elit, sed eius mod tempor
incidunt, ut labore et dolore magna aliqua.

...inserts omission → ‘shapepar.sty’.inserts omission → ‘shapepar.sty’



Lorem ipsum dolor sit, amet, consectetur, adipisci elit, sed
eius mod tempor incidunt, ut labore et dolore magna aliqua.
Lorem ipsum dolor sit, a- met, consectetur, adipis-
ci elit, sed eius mo- d tempor incidunt,
ut labore et dol- ore magna aliqu-
a. Lorem ipsu- m dolor sit, a-
met, consect- etur, adipisci
elit, sed eiu- s mod temp-
or incidunt, ut labore et
dolore magn- a aliqua. Lo-
rem ipsum d- olor sit, amet,
consectetur, a- dipisci elit, sed
eius mod tempor incidunt, ut lab-
ore et dolore magna aliqua. Lorem ipsu-
m dolor sit, amet, consec- tetur, adipisci elit, sed ei-
us mod tempor incidunt, ut labore et dolore magna aliqua.
Lorem ipsum dolor sit, amet, consectetur, adipisci elit, sed
eius mod tempor incidunt, ut labore et dolore magna aliqua.
Lorem ipsum dolor sit, amet, consectetur, adipisci elit, sed
eius mod tempor incidunt, ut labore et dolore magna aliqua.

Lorem ipsum dolor sit, amet, consectetur, adipisci elit, s-
ed eius mod tempor incidunt, ut labore et dolore mag-
na aliqua. Lorem ipsum dolor sit, amet, consec-
tetur, adipisci elit, sed eius mod tem-
por incidunt, u- t labore et dolo-

re magna aliq- ua.

b

a

f (x)dx .

Lorem ipsum dolor sit, am-
et, consecte- tur, adipisc-
i elit, sed e- ius mod te-
mpor incidu- nt, ut labore
et dolore ma- gna aliqua. L-
orem ipsum d- olor sit, amet,
consectetur, adi- pisci elit, sed e-
ius mod tempor in- cidunt, ut labore et

dolore magna aliqua. Lo-
rem ipsum dolor sit, am-
et, consectetur, adipisci elit, sed eius mod tempor incid-
unt, ut labore et dolore magna aliqua. Lorem ipsum do-
lor sit, amet, consectetur, adipisci elit, sed eius mod te-
mpor incidunt, ut labore et dolore magna aliqua. Lorem
ipsum dolor sit, amet, consectetur, adipisci elit, sed eius
mod tempor incidunt, ut labore et dolore magna aliqua.

...inserts omission → ‘glueball.tex’.inserts omission → ‘glueball.tex’



.

...text lines, frame.text lines, frame



.

...insert.insert



.

...insert omission.insert omission



.

...segments.segments



.

...segments of multi text lines.segments of multi text lines



segment:
☞ begin and end (width)
☞ minimal used space/maximal left space
☞ cost of using
☞ boxes

...segment.segment



box:
☞ width
☞ height
☞ cost of using
☞ “left space absorption factor”
☞ list of pairs of “hyphenation” boxes
(each of these boxes has its own
“cost of using”)...box.box



.. .. ..A ..A ..A ..␣ ..B ..B ..B .. .. ..

.. .. .. .. .. .. .. .. .. .. ..A ..A ..A ..␣

..␣ ..B ..B ..B .. .. .. .. .. .. .. .. .. ..

...box → hyphenation boxes → space/non-breaking space.box → hyphenation boxes → space/non-breaking space



.. .. ..A ..A ..A ..B ..B ..B .. .. ..

.. .. .. .. .. .. .. ..A ..A ..A ..-

..B ..B ..B .. .. .. .. .. .. .. ..

...box → hyphenation boxes → discretionary.box → hyphenation boxes → discretionary



.. .. ..A ..A ..A ..+ ..B ..B ..B .. ..

.. .. .. .. .. .. .. ..A ..A ..A ..+

..+ ..B ..B ..B .. .. .. .. .. .. ..

...box → hyphenation boxes → math discretionary.box → hyphenation boxes → math discretionary



one box → .

.ffi .

.ffi ← the box

three boxes → .

.f ..f ..i
two boxes → .

.f .

.fi .

.f- .

.fi two hyphenation
← boxes related
with the box

two boxes → .

.ff .

.i .

.ff- ..i another two
← hyphenation boxes
related with the box

...box → hyphenation boxes → ligatures.box → hyphenation boxes → ligatures



..A ..␣ ..B ..␣ ..C ..␣ ..D ..␣ ..␣ ..␣ ..␣ ..␣ ..␣

.. ..0 .. ..1 .. ..2 .. .. .. .. .. .. ..

..A ..␣ ..B ..␣ ..␣ ..␣ ..C ..␣ ..␣ ..␣ ..␣ ..␣ ..D

.. ..↑ .. .. ..↑ .. .. .. .. ..↑ .. .. ..

.. ..00+ 1+ 2———— ⋅ 6= 0.. .. ..10+ 1+ 2———— ⋅ 6= 2.. .. .. .. ..20+ 1+ 2———— ⋅ 6= 4.. .. ..

...box → left space absorption factor.box → left space absorption factor



.. .. .. .. .. .. .. ..c .. .. .. .. .. .. .. .. ..c ..

..A ..A ..A ..A ..A .. .. ..1 .. ..A ..A ..A ..A ..A ..A .. ..0 ..

..B ..B ..B ..B ..B .. .. ..1 .. ..B ..B ..B .. .. .. .. ..3 ..

..C ..C ..C ..C ..C .. .. ..1 .. ..C ..C ..C ..C ..C ..C .. ..0 ..

..D ..D ..D ..D .. .. .. ..0 .. ..D ..D ..D ..D .. .. .. ..0 ..

...algorithm → costs computing.algorithm → costs computing



.. .. .. .. .. .. .. ..c ..c2 .. .. .. .. .. .. .. ..c ..c2

..A ..A ..A ..A ..A .. .. ..1 ..1 ..A ..A ..A ..A ..A ..A .. ..0 ..0

..B ..B ..B ..B ..B .. .. ..1 ..1 ..B ..B ..B .. .. .. .. ..3 ..9

..C ..C ..C ..C ..C .. .. ..1 ..1 ..C ..C ..C ..C ..C ..C .. ..0 ..0

..D ..D ..D ..D .. .. .. ..0 ..0 ..D ..D ..D ..D .. .. .. ..0 ..0

...algorithm → costs computing.algorithm → costs computing



nodes:
☞ height, line and segment numbers
☞ box number
☞ hyphenation box variant
☞ current minimal cost
☞ predecessor node
☞ current height

...algorithm → nodes.algorithm → nodes



special priority queue:
☞ consists of multiple priority queues:
one for each of the segments of the frame
and one additional priority queue

☞ push/find a node (for a given h, ℓ, s, b, v):
O ( lg #Nℓ,s)

☞ pop a node: O (#S) (in fact: O (1))

...algorithm → special priority queue.algorithm → special priority queue



..A ..A ..A ..B ..B ..C ..C ..D ..D ..D ..D ..D

.. .. .. .. .. ..

.. .. .. .. .. ..

.. .. .. .. .. ..

.. .. .. .. .. ..

...algorithm → example 1 → problem.algorithm → example 1 → problem



..A ..A ..A ..B ..B ..C ..C ..D ..D ..D ..D ..D

.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.

.

. . ..2
B

..3
C

..4
D

..5
E

..S ..1
A

..2
C

..3
D

..4
E

. ..T

.9

.0

.16

.1

.16

.16

.0

.0

...algorithm → example 1 → solution.algorithm → example 1 → solution



..A ..A ..A ..B ..B ..C ..C ..D ..D ..D ..D ..D

.. .. ..A ..A ..A .. .. .. .. ..9

.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.

.

. . ..2
B

..3
C
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D
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E

..S ..1
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..2
C

..3
D

..4
E

. ..T

.9

.0

.16

.1

.16

.16

.0

.0

...algorithm → example 1 → solution.algorithm → example 1 → solution



..A ..A ..A ..B ..B ..C ..C ..D ..D ..D ..D ..D
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.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.

.

. . ..2
B

..3
C

..4
D

..5
E

..S ..1
A

..2
C

..3
D

..4
E

. ..T

.9

.0

.16

.1

.16

.16

.0

.0

...algorithm → example 1 → solution.algorithm → example 1 → solution
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...algorithm → example 1 → solution.algorithm → example 1 → solution



..A ..A ..A ..B ..B ..C ..C ..D ..D ..D ..D ..D

.. .. ..A ..A ..A .. .. .. .. ..9

.. .. ..B ..B ..␣ ..C ..C .. .. ..1

.. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. ..

.

.

. . ..2
B

..3
C

..4
D

..5
E

..S ..1
A

..2
C

..3
D

..4
E

. ..T

.9

.0

.16

.1

.16

.16

.0

.0

...algorithm → example 1 → solution.algorithm → example 1 → solution
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...algorithm → example 1 → solution.algorithm → example 1 → solution
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...algorithm → example 1 → solution.algorithm → example 1 → solution
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...algorithm → example 1 → solution.algorithm → example 1 → solution
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...algorithm → example 1 → solution.algorithm → example 1 → solution
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...algorithm → example 1 → optimal solution.algorithm → example 1 → optimal solution
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...algorithm → example 1 → naïve solution.algorithm → example 1 → naïve solution
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...algorithm → example 2 → problem.algorithm → example 2 → problem
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution



..A ..A ..A ..B ..B ..C ..C ..D ..D ..D ..D ..D

.. .. ..A ..A ..A ..␣ ..B ..B .. .. .. .. ..0

.. .. ..C ..C .. .. .. .. .. .. .. .. ..25

.. .. .. .. .. .. .. .. .. .. .. .. ..

.. .. .. .. .. .. .. .. .. .. .. .. ..

.

.

. . ..2
B

..3
C

..4
D

..5
E

..S ..1
A

..2
C

..3
D

..4
E

. ..T

.9

.0

.25

.4

.25

.36

.0

.0

.0

...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → solution.algorithm → example 2 → solution
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...algorithm → example 2 → optimal solution.algorithm → example 2 → optimal solution
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...algorithm → example 2 → naïve solution.algorithm → example 2 → naïve solution
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...algorithm → example 3 → problem.algorithm → example 3 → problem
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...algorithm → example 3 → solution.algorithm → example 3 → solution
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1: processNonLastSegmentNode(n):
2: for b = bn to #Bn do
3: for v = 1 to numberOfHyphenationVariantsOfBox(b) do
4: w = widthOfBoxes (bn, vn, b, v)
5: wmin = minimalUsedSpaceOfSegment (ℓn, sn)
6: wmax = widthOfSegment (ℓn, sn)
7: if w ⩾ wmin and w ⩽ wmax then
8: pushNewNodeOrUpdateExisting(Q, hn, ℓn, sn + 1, bn + 1, vn, n)

...algorithm → pseudocode → ‘processNonLastSegmentNode’.algorithm → pseudocode → ‘processNonLastSegmentNode’



1: processNonLastSegmentNode(n):
2: for b = bn to #Bn do
3: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
4: w = widthOfBoxes (bn, vn, b, v)
5: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
6: wmax = widthOfSegment (ℓn, sn) O(1)
7: if w ⩾ wmin and w ⩽ wmax then
8: pushNewNodeOrUpdateExisting(Q, hn, ℓn, sn + 1, bn + 1, vn, n)

...algorithm → complexity analysis → ‘processNonLastSegmentNode’.algorithm → complexity analysis → ‘processNonLastSegmentNode’



1: processNonLastSegmentNode(n):
2: for b = bn to #Bn do
3: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
4: w = widthOfBoxes (bn, vn, b, v) O(1)
5: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
6: wmax = widthOfSegment (ℓn, sn) O(1)
7: if w ⩾ wmin and w ⩽ wmax then
8: pushNewNodeOrUpdateExisting(Q, hn, ℓn, sn + 1, bn + 1, vn, n)

...algorithm → complexity analysis → ‘processNonLastSegmentNode’.algorithm → complexity analysis → ‘processNonLastSegmentNode’



1: processNonLastSegmentNode(n):
2: for b = bn to #Bn do
3: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
4: w = widthOfBoxes (bn, vn, b, v) O(1)
5: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
6: wmax = widthOfSegment (ℓn, sn) O(1)
7: if w ⩾ wmin and w ⩽ wmax then O(lg#Nn)
8: pushNewNodeOrUpdateExisting(Q, hn, ℓn, sn + 1, bn + 1, vn, n)

...algorithm → complexity analysis → ‘processNonLastSegmentNode’.algorithm → complexity analysis → ‘processNonLastSegmentNode’



1: processNonLastSegmentNode(n):
2: for b = bn to #Bn do
3: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
4: w = widthOfBoxes (bn, vn, b, v) O(1)
5: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
6: wmax = widthOfSegment (ℓn, sn) O(1)
7: if w ⩾ wmin and w ⩽ wmax then O(lg#Nn)
8: pushNewNodeOrUpdateExisting(Q, hn, ℓn, sn + 1, bn + 1, vn, n)
total complexity: O(#Bn

.lg#Nn)

...algorithm → complexity analysis → ‘processNonLastSegmentNode’.algorithm → complexity analysis → ‘processNonLastSegmentNode’



1: processLastSegmentNode(n):
2: hmin = computeMinimalBoxesHeight (ℓn, bn, vn)
3: hmax = computeMaximalBoxesHeight (ℓn, bn, vn)
4: for b = bn to #Bn do
5: for v = 1 to numberOfHyphenationVariantsOfBox(b) do
6: if an = hn or heightOfBoxes (bn, vn, b, v) = hn then
7: w = widthOfBoxes(bn, vn, b, v)
8: wmin = minimalUsedSpaceOfSegment (ℓn, sn)
9: wmax = widthOfSegment (ℓn, sn)
10: if w ⩾ wmin and w ⩽ wmax then
11: for h = hmin to hmax do
12: pushNewNodeOrUpdateExisting(Q, h, ℓn+hn, 1, bn+1, vn, n)

...algorithm → pseudocode → ‘processLastSegmentNode’.algorithm → pseudocode → ‘processLastSegmentNode’



1: processLastSegmentNode(n):
2: hmin = computeMinimalBoxesHeight (ℓn, bn, vn) O(#Bn)
3: hmax = computeMaximalBoxesHeight (ℓn, bn, vn) O(#Bn)
4: for b = bn to #Bn do
5: for v = 1 to numberOfHyphenationVariantsOfBox(b) do
6: if an = hn or heightOfBoxes (bn, vn, b, v) = hn then
7: w = widthOfBoxes (bn, vn, b, v)
8: wmin = minimalUsedSpaceOfSegment (ℓn, sn)
9: wmax = widthOfSegment (ℓn, sn)
10: if w ⩾ wmin and w ⩽ wmax then
11: for h = hmin to hmax do
12: pushNewNodeOrUpdateExisting(Q, h, ℓn+hn, 1, bn+1, vn, n)

...algorithm → complexity analysis → ‘processLastSegmentNode’.algorithm → complexity analysis → ‘processLastSegmentNode’



1: processLastSegmentNode(n):
2: hmin = computeMinimalBoxesHeight (ℓn, bn, vn) O(#Bn)
3: hmax = computeMaximalBoxesHeight (ℓn, bn, vn) O(#Bn)
4: for b = bn to #Bn do
5: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
6: if an = hn or heightOfBoxes (bn, vn, b, v) = hn then
7: w = widthOfBoxes (bn, vn, b, v)
8: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
9: wmax = widthOfSegment (ℓn, sn) O(1)
10: if w ⩾ wmin and w ⩽ wmax then
11: for h = hmin to hmax do
12: pushNewNodeOrUpdateExisting(Q, h, ℓn+hn, 1, bn+1, vn, n)

...algorithm → complexity analysis → ‘processLastSegmentNode’.algorithm → complexity analysis → ‘processLastSegmentNode’



1: processLastSegmentNode(n):
2: hmin = computeMinimalBoxesHeight (ℓn, bn, vn) O(#Bn)
3: hmax = computeMaximalBoxesHeight (ℓn, bn, vn) O(#Bn)
4: for b = bn to #Bn do
5: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
6: if an = hn or heightOfBoxes (bn, vn, b, v) = hn then O(1)
7: w = widthOfBoxes (bn, vn, b, v) O(1)
8: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
9: wmax = widthOfSegment (ℓn, sn) O(1)
10: if w ⩾ wmin and w ⩽ wmax then
11: for h = hmin to hmax do
12: pushNewNodeOrUpdateExisting(Q, h, ℓn+hn, 1, bn+1, vn, n)

...algorithm → complexity analysis → ‘processLastSegmentNode’.algorithm → complexity analysis → ‘processLastSegmentNode’



1: processLastSegmentNode(n):
2: hmin = computeMinimalBoxesHeight (ℓn, bn, vn) O(#Bn)
3: hmax = computeMaximalBoxesHeight (ℓn, bn, vn) O(#Bn)
4: for b = bn to #Bn do
5: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
6: if an = hn or heightOfBoxes (bn, vn, b, v) = hn then O(1)
7: w = widthOfBoxes (bn, vn, b, v) O(1)
8: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
9: wmax = widthOfSegment (ℓn, sn) O(1)
10: if w ⩾ wmin and w ⩽ wmax then
11: for h = hmin to hmax do O(lg#Nn)
12: pushNewNodeOrUpdateExisting(Q, h, ℓn+hn, 1, bn+1, vn, n)

...algorithm → complexity analysis → ‘processLastSegmentNode’.algorithm → complexity analysis → ‘processLastSegmentNode’



1: processLastSegmentNode(n):
2: hmin = computeMinimalBoxesHeight (ℓn, bn, vn) O(#Bn)
3: hmax = computeMaximalBoxesHeight (ℓn, bn, vn) O(#Bn)
4: for b = bn to #Bn do
5: for v = 1 to numberOfHyphenationVariantsOfBox(b) do O(1)
6: if an = hn or heightOfBoxes (bn, vn, b, v) = hn then O(1)
7: w = widthOfBoxes (bn, vn, b, v) O(1)
8: wmin = minimalUsedSpaceOfSegment (ℓn, sn) O(1)
9: wmax = widthOfSegment (ℓn, sn) O(1)
10: if w ⩾ wmin and w ⩽ wmax then
11: for h = hmin to hmax do O(lg#Nn)
12: pushNewNodeOrUpdateExisting(Q, h, ℓn+hn, 1, bn+1, vn, n)

total complexity: O(#Bn
.#Hn

.lg#Nn)
...algorithm → complexity analysis → ‘processLastSegmentNode’.algorithm → complexity analysis → ‘processLastSegmentNode’



1: processLastSegmentNode(S ) // initialization
2: while queueIsNotEmpty(Q) do
3: n = popNode(Q)
4: if hn + ℓn > #L or bn > #B then
5: if cT > cn then
6: cT = cn, πT = n
7: else
8: if isLastSegmentOfLine(n) then
9: processLastSegmentNode(n)
10: else
11: processNonLastSegmentNode(n)

...algorithm → pseudocode.algorithm → pseudocode



1: processLastSegmentNode(S ) // initialization O(#BS
.#HS

.lg#NS)
2: while queueIsNotEmpty(Q) do
3: n = popNode(Q)
4: if hn + ℓn > #L or bn > #B then
5: if cT > cn then
6: cT = cn, πT = n
7: else
8: if isLastSegmentOfLine(n) then
9: processLastSegmentNode(n) O(#Bn

.#Hn
.lg#Nn)

10: else
11: processNonLastSegmentNode(n) O(#Bn

.lg#Nn)

...algorithm → complexity analysis.algorithm → complexity analysis



1: processLastSegmentNode(S ) // initialization O(#BS
.#HS

.lg#NS)
2: while queueIsNotEmpty(Q) do O(1)
3: n = popNode(Q)
4: if hn + ℓn > #L or bn > #B then
5: if cT > cn then
6: cT = cn, πT = n
7: else
8: if isLastSegmentOfLine(n) then O(1)
9: processLastSegmentNode(n) O(#Bn

.#Hn
.lg#Nn)

10: else
11: processNonLastSegmentNode(n) O(#Bn

.lg#Nn)

...algorithm → complexity analysis.algorithm → complexity analysis



1: processLastSegmentNode(S ) // initialization O(#BS
.#HS

.lg#NS)
2: while queueIsNotEmpty(Q) do O(1)
3: n = popNode(Q) O(#S)
4: if hn + ℓn > #L or bn > #B then
5: if cT > cn then
6: cT = cn, πT = n
7: else
8: if isLastSegmentOfLine(n) then O(1)
9: processLastSegmentNode(n) O(#Bn

.#Hn
.lg#Nn)

10: else
11: processNonLastSegmentNode(n) O(#Bn

.lg#Nn)

...algorithm → complexity analysis.algorithm → complexity analysis



1: processLastSegmentNode(S ) // initialization O(#BS
.#HS

.lg#NS)
2: while queueIsNotEmpty(Q) do O(1)
3: n = popNode(Q) O(#S)
4: if hn + ℓn > #L or bn > #B then
5: if cT > cn then
6: cT = cn, πT = n
7: else
8: if isLastSegmentOfLine(n) then O(1)
9: processLastSegmentNode(n) O(#Bn

.#Hn
.lg#Nn)

10: else
11: processNonLastSegmentNode(n) O(#Bn

.lg#Nn)

total complexity: O(#B2.#H2.#S.lg#B.#H.#S)
...algorithm → complexity analysis.algorithm → complexity analysis
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\bye
...“ank you for your attention!”.“ank you for your attention!”


